

ON THE DIOPHANTINE EQUATION $y^p = f(x_1, x_2, \dots, x_r)$

RAGHAVENDRAN SRIKANTH, SIVANARAYANAPANDIAN SUBBURAM

Abstract: In this paper, we study the Diophantine equation

$$y^p = f(x_1, x_2, \dots, x_r),$$

where $f(x_1, x_2, \dots, x_r)$ is a real polynomial in variables x_1, x_2, \dots, x_r in R , a group of real numbers under the usual addition $+$, having the least element property.

Keywords: Diophantine equation, monic polynomial.

1. Introduction

In 1999, Poulakis [1] produced an algorithm to solve the Diophantine equation $y^2 = x^4 + a_1x^3 + a_2x^2 + a_3x + a_4$. In 2000, Szalay [7] gave an upper bound for the solutions of $y^2 = f(x)$, where $f(x) = a_0x^n + a_1x^{n-1} + \dots + a_n$ is an integer polynomial and n is even. In 2002, Szalay [8] generalized the work by the equation $y^p = f(x)$, where $\deg f(x)$ is multiple of p . In 2008, Sankaranarayanan and Saradha [2] provided an upper bound for the integral solutions of $f(x) = g(y)$, where $f(x)$ and $g(y)$ are integer polynomials in variables x and y with $\gcd(\deg(f(x)), \deg(g(y))) > 1$. In 2012, Srikanth and Subburam [3] improved the method of Szalay [8]. In 2013, Szalay [9] dealt with the general equation $z^2 = f(x, y)$. In 2014-15, Subburam and Thangadurai [5] and [6] gave upper bounds for the solutions of the equation $ax^3 + by + c = xyz$. In 2015, Subburam [4] studied the integral solutions of $(y - q_1)(y - q_2) \cdots (y - q_n) = f(x)$.

Our aim in this paper is to prove the following theorems. Here, we use the notations: \mathbb{R} is the set of all real numbers, $R \subset \mathbb{R}$ having the least element property a group under the usual addition $+$, δ the least positive element of R , for any element $x \in \mathbb{R}$, $|x|_R$ the largest element of R with $|x|_R \leq x$, p a prime, $f(x_1, \dots, x_t)$ a polynomial such that

$$f(x_1, \dots, x_t) = B(x_1, \dots, x_t)^p + C(x_1, \dots, x_t)$$

for some polynomials $B(x_1, \dots, x_t)$ and $C(x_1, \dots, x_t)$ in variables x_1, x_2, \dots, x_t with coefficients in \mathbb{R} , S the set of all positive integers $s \leq t$ such that $f(x_1, \dots, x_t)$ is a monic polynomial in variable x_s of degree $\deg_{x_s}(f(x_1, \dots, x_t))$. For any elements $\psi, x_1, x_2, \dots, x_t \in R$, $K_\psi = \{x\psi^{-1} : x \in R\}$,

$$P_i(x_1, \dots, x_t) = -(|\psi B(x_1, \dots, x_t)|_R - \alpha_i)^p + (\psi B(x_1, \dots, x_t))^p + \psi^p C(x_1, \dots, x_t)$$

and

$$Q_i(x_1, \dots, x_t) = (|\psi B(x_1, \dots, x_t)|_R + \alpha_i)^p - (\psi B(x_1, \dots, x_t))^p - \psi^p C(x_1, \dots, x_t)$$

where ψ^{-1} is the inverse of ψ in $\mathbb{R} \setminus \{0\}$ under usual multiplication, $\alpha_i = i\delta$ and $i = 0, 1, \dots$

In 2013, Szalay [7] proved that if (x, y, z) is an integral solution of the equation $z^2 = f(x, y)$, where $f(x, y)$ is an integer polynomial, then $P_1(x, y) > 0$ and $Q_1(x, y) > 0$ implies that $C(x, y) = 0$. This result is generalized in the following theorem:

Theorem 1. *Let r be a positive integer. If $P_i(x_1, \dots, x_t) = 0$ and $Q_i(x_1, \dots, x_t) = 0$ have no solution in R^t for the integers i with $1 \leq i \leq r - 1$ and if $(x_1, \dots, x_t, y) \in R^t \times K_\psi$ is a solution of the equation*

$$y^p = f(x_1, \dots, x_t),$$

then each of

$$(1) \quad P_r(x_1, \dots, x_t) > 0 \quad \text{and} \quad Q_r(x_1, \dots, x_t) > 0$$

$$(2) \quad P_r(x_1, \dots, x_t) < 0 \quad \text{and} \quad Q_r(x_1, \dots, x_t) < 0$$

implies that

$$\psi^p f(x_1, \dots, x_t) - |\psi B(x_1, \dots, x_t)|_R^p = 0.$$

Theorem 2. *Let r be a positive integer. If $s \in S$, $\deg_{x_s} C(x_1, \dots, x_t) < \deg_{x_s} B(x_1, \dots, x_t)^{p-1}$, $\psi B(R, \dots, R) \subset R$, and if*

$$\mathbb{P}_i(x_1, \dots, x_t) = -(\psi B(x_1, \dots, x_t) - \alpha_i)^p + (\psi B(x_1, \dots, x_t))^p + \psi^p C(x_1, \dots, x_t) = 0$$

and

$$\mathbb{Q}_i(x_1, \dots, x_t) = (\psi B(x_1, \dots, x_t) + \alpha_i)^p - (\psi B(x_1, \dots, x_t))^p - \psi^p C(x_1, \dots, x_t) = 0$$

have no solution in R^t for all integers i with $0 \leq i \leq r - 1$, then all solutions $(x_1, \dots, x_t, y) \in R^t \times K_\psi$ of the equation

$$y^p = f(x_1, \dots, x_t)$$

satisfy

$$\min \vartheta(s) \leq x_s \leq \max \vartheta(s),$$

where

$$\vartheta(s) = \{x_s \in \mathbb{R} : \mathbb{P}_r \text{ or } \mathbb{Q}_r \text{ or } C = 0 \text{ for some } x_1, \dots, x_{s-1}, x_{s+1}, \dots \in \mathbb{R}\}.$$

We have the following corollary, which generalize the works of Szalay [8] and Srikanth-Subburam [3], from Theorem 1.

Corollary 1. *Let r be a positive integer. If $\psi B(R) \subset R$, $\deg(C(x)) < \deg(B(x)^{p-1})$ and if $\mathbb{P}_i(x) = 0$ and $\mathbb{Q}_i(x) = 0$ have no solutions in R^t for the integer i with $1 \leq i \leq r-1$, then all solutions $(x, y) \in R \times K_\psi$ of the equation*

$$y^p = f(x)$$

satisfy

$$\min \vartheta \leq x \leq \max \vartheta,$$

where $\vartheta = \{\alpha \in \mathbb{R} : C(\alpha) = 0 \text{ or } \mathbb{P}_r(\alpha) = 0 \text{ or } \mathbb{Q}_r(\alpha) = 0\}$.

2. Proof of Theorem 1

Let $(x_1, \dots, x_t, y) \in R^t \times K_\psi$ be a solution of the equation

$$y^p = f(x_1, \dots, x_t).$$

Assume that $P_r(x_1, \dots, x_t) > 0$ and $Q_r(x_1, \dots, x_t) > 0$. Then

$$(|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^p < (\psi B(x_1, \dots, x_t))^p + \psi^p C(x_1, \dots, x_t)$$

and

$$(\psi B(x_1, \dots, x_t))^p + \psi^p C(x_1, \dots, x_t) < (|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^p.$$

This implies that

$$(|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^p < (\psi y)^p < (|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^p.$$

Therefore, we have

$$(|\psi B(x_1, \dots, x_t)|_R - \alpha_r) < \pm \psi y < (|\psi B(x_1, \dots, x_t)|_R + \alpha_r).$$

Since $y \in K_\psi$, $\pm \psi y \in R$. Also, it is clear that $|\psi B(x_1, \dots, x_t)|_R - \alpha_r$ and $|\psi B(x_1, \dots, x_t)|_R + \alpha_r$ are in R , since $|\psi B(x_1, \dots, x_t)|_R$ and α_r are in R . Therefore

$$\pm \psi y = |\psi B(x_1, \dots, x_t)|_R - \alpha_i$$

or

$$\pm \psi y = |\psi B(x_1, \dots, x_t)|_R + \alpha_i$$

or

$$\pm \psi y = |\psi B(x_1, \dots, x_t)|_R$$

for some $i = 1, 2, \dots, r-1$. From this, we can write that

$$P_i(x_1, \dots, x_t) = \psi^p f(x_1, \dots, x_t) - (|\psi B(x_1, \dots, x_t)|_R - \alpha_i)^p = 0$$

or

$$Q_i(x_1, \dots, x_t) = -\psi^p f(x_1, \dots, x_t) + (|\psi B(x_1, \dots, x_t)|_R + \alpha_i)^p = 0$$

or

$$\psi^p f(x_1, \dots, x_t) - |\psi B(x_1, \dots, x_t)|_R^p = 0.$$

Since $P_i(X_1, \dots, X_t) = 0$ and $Q_i(X_1, \dots, X_t) = 0$ have no solution in R for the positive integers i with $1 \leq i \leq r-1$, we have

$$\psi^p f(x_1, \dots, x_t) - |\psi B(x_1, \dots, x_t)|_R^p = 0.$$

Assume that $P_r(x_1, \dots, x_t) < 0$ and $Q_r(x_1, \dots, x_t) < 0$. Then

$$(|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^p > (\psi B(x_1, \dots, x_t))^p + \psi^p C(x_1, \dots, x_t)$$

and

$$(\psi B(x_1, \dots, x_t))^p + \psi^p C(x_1, \dots, x_t) > (|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^p.$$

This implies that

$$(|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^p < (\psi y)^p < (|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^p.$$

If p is odd, then

$$(|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^p < (|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^p.$$

implies that

$$(|\psi B(x_1, \dots, x_t)|_R + \alpha_r) < (|\psi B(x_1, \dots, x_t)|_R - \alpha_r),$$

which is a contradiction. If p is even, then

$$(|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^2 < (|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^2.$$

implies that $|\psi B(x_1, \dots, x_t)|_R < 0$. Therefore

$$(-|\psi B(x_1, \dots, x_t)|_R - \alpha_r)^2 < (\delta \psi y)^2 < (-|\psi B(x_1, \dots, x_t)|_R + \alpha_r)^2,$$

where $\delta = \pm 1$ with $\delta \psi y > 0$. Since $-|\psi B(x_1, \dots, x_t)|_R + \alpha_r > 0$, we get

$$-|\psi B(x_1, \dots, x_t)|_R - \alpha_r < \delta \psi y < -|\psi B(x_1, \dots, x_t)|_R + \alpha_r.$$

That is, we have (1). Therefore we get

$$\psi^p f(x_1, \dots, x_t) - |\psi B(x_1, \dots, x_t)|_R^p = 0.$$

This proves the result.

3. Proof of Theorem 2

Let $s \in S$. Suppose that there is a solution $(x_1, \dots, x_t, y) \in R^t \times K_\psi$ of the equation

$$y^p = f(x_1, \dots, x_t)$$

such that

$$\min \vartheta(s) > x_s \text{ and } x_s > \max \vartheta(s),$$

where

$$\vartheta(s) = \{x_s \in \mathbb{R} : \mathbb{P}_r \text{ or } \mathbb{Q}_r \text{ or } C = 0 \text{ for some } x_1, \dots, x_{s-1}, x_{s+1}, \dots \in \mathbb{R}\}.$$

Then one of the following four cases is true:

- (1) $\mathbb{P}_r(x_1, \dots, x_t) > 0$ and $\mathbb{Q}_r(x_1, \dots, x_t) > 0$
- (2) $\mathbb{P}_r(x_1, \dots, x_t) > 0$ and $\mathbb{Q}_r(x_1, \dots, x_t) < 0$
- (3) $\mathbb{P}_r(x_1, \dots, x_t) < 0$ and $\mathbb{Q}_r(x_1, \dots, x_t) > 0$
- (4) $\mathbb{P}_r(x_1, \dots, x_t) < 0$ and $\mathbb{Q}_r(x_1, \dots, x_t) < 0$.

Since we have $\deg_{X_s} C(X_1, \dots, X_t) < \deg_{X_s} B(X_1, \dots, X_t)^{p-1}$, we conclude that $\deg_{X_s} (\mathbb{P}_r(X_1, \dots, X_t)) = \deg_{X_s} (\mathbb{Q}_r(X_1, \dots, X_t))$ and the leading coefficients of the polynomials $\mathbb{P}_r(X_1, \dots, X_t)$ and $\mathbb{Q}_r(X_1, \dots, X_t)$ in variable X_s are the same. Therefore the cases (2) and (3) are impossible. So we have (1) and (4). Since $\psi B(R, \dots, R) \subset R$ and, $\mathbb{P}_i(X_1, \dots, X_t) = 0$ and $\mathbb{Q}_i(X_1, \dots, X_t) = 0$ have no solutions in R for all i with $1 \leq i \leq r-1$, by Theorem 1, we get that $C(x_1, \dots, x_t) = 0$. This is a contradiction. This proves the theorem.

Acknowledgments. The authors thank the referee for the report on the earlier draft of this paper and also the first author gratefully acknowledges the Tata Realty and Infrastructure Limited for its financial support.

References

- [1] D. Poulakis, *A simple method for solving the Diophantine equation $y^2 = x^4 + ax^3 + bx^2 + cx + d$* , Elem. Math. **54** (1999), 32–36.
- [2] A. Sankaranarayanan and N. Saradha, *Estimates for the solutions of certain Diophantine equations by Runge’s method*, Int. J. of Number Theory **4**(3) (2008), 475–493.
- [3] R. Srikanth and S. Subburam, *The superelliptic equation $y^p = x^{kp} + a_{kp-1}x^{kp-1} + \dots + a_0$* , Journal of Algebra and Number Theory Academia **2**(6) (2012), 331–385.
- [4] S. Subburam, *The Diophantine equation $(y - q_1)(y - q_2) \dots (y - q_m) = f(x)$* , Acta Math. Hungar. **146**(1) (2015), 40–46.
- [5] S. Subburam and R. Thangadurai, *On the Diophantine equation $x^3 + by + 1 - xyz = 0$* , C. R. Math. Rep. Acad. Sci. Canada **36**(1) (2014), 15–19.
- [6] S. Subburam and R. Thangadurai, *On the Diophantine equation $ax^3 + by + c = xyz$* , Funct. Approx. Comment. Math. **53**(1), (2015), 167–175.

- [7] L. Szalay, *Fast algorithm for solving superelliptic equations of certain types*, Acta Acad. Paedagog. Agriensis Sect. Mat. (N.S.) **27** (2000), 19–24
- [8] L. Szalay, *Superelliptic equations of the form $y^p = x^{kp} + a_{kp-1}x^{kp-1} + \dots + a_0$* , Bull. Greek Math. Soc. **46** (2002), 23–33.
- [9] L. Szalay, *Algorithm to solve ternary Diophantine equations*, Turkish Journal of Mathematics **37** (2013), 733–738.

Addresses: R. Srikanth: Department of Mathematics, SASTRA University, Thanjavur, Tamil Nadu, India;

S. Subburam: Department of Mathematics, Srinivasa Ramanujan Centre, SASTRA University, Kumbakonam, Tamil Nadu, India.

E-mail: srikanth@maths.sastra.edu, ssrammaths@yahoo.com

Received: 11 October 2016; **revised:** 19 October 2017